

GENESEE COUNTY ROAD COMMISSION

Serving the motorists of Genesee County for more than 100 years

211 W. Oakley Street Flint, MI 48503-3995 Website: www.gcrc.org

Board meetings: first and third Tuesdays at 10:00 A.M.

Phone: (810) 767-4920 Toll Free: (800) 249-4027 Fax: (810) 767-5373 – Administration Fax: (810) 767-3634 - Maintenance

DATE:

June 26, 2023

TO:

Cadillac Asphalt LLC

SUBJECT:

Bid Tabulation

2023 SB US-23 Ramps, City of Fenton

GCRC No. 518-TBD

Enclosed, for your information, please find the "Itemized Bid" for the project referenced above that was bid upon by your company on June 21, 2023. All bid(s) were rejected by Michigan Department of Transportation.

Sincerely,

GENESEE COUNTY ROAD COMMISSION

Richard Hill, P.E.

Design Department Manager

Enclosure

cc: EJ

AP

RH

GG

TK

File

Bid Comparison

SB US23/Owen **Contract ID: Description:** Ramp Maintenance

Location:

SB US-23/Owen Ramps City of Fenton

Projects(s):

SB US23/Owen

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$204,685.84	-57.42%	0.00%
1	(_1) Cadillac Asphalt LLC	\$480,776.73	0.00%	134.88%

Line Pay Item Code Description	Quantity	Units	(0) ENGINEER'S E Bid Price	STIMATE Total	(1) Cadillac Asphalt Bid Price	LLC Total	Bid Price	Total
0001 1500001 Mobilization, Max	1	LSUM	\$20,000.00	\$20,000.00	\$62,750.00	\$62,750.00		\$0.00
0002 3077031Shoulder, Class II, Modified	50	Ton	\$30.00	\$1,500.00	\$196.50	\$9,825.00		\$0.00
0003 5010002 Cold Milling HMA Surface	5,458	Syd	\$1.50	\$8,187.00	\$8.57	\$46,775.06		\$0.00
0004 5010008 Pavt for Butt Joints, Rem	26	Syd	\$8.00	\$208.00	\$25.00	\$650.00		\$0.00
0005 5010025 Hand Patching	28	Ton	\$120.00	\$3,360.00	\$119.50	\$3,346.00		\$0.00

Contract # SB US23/Owen (SB US-23/Owen Ramps City of Fenton)

MERL: 2022.11.0

	•	antity	Units	(0) ENGINEER'S E		(1) Cadillac Asphalt			
Descript				Bid Price	Total	Bid Price	Total	Bid Price	Total
	012085	910	Ton	\$120.00	\$109,200.00	\$220.25	\$200,427.50		\$0.00
HMA, 5E	EML, High Stress								
	017001	276	Ft	\$15.00	\$4,140.00	\$50.00	\$13,800.00		\$0.00
_ Pavt J	oint and Crack Repr, Det 7, Spec								
	017001	138	Ft	\$20.00	\$2,760.00	\$66.00	\$9,108.00		\$0.00
_ Pavt J	oint and Crack Repr, Det 8, Spec								
	030014	4,570	Syd	\$5.00	\$22,850.00	\$10.20	\$46,614.00		\$0.00
Cold Mil	ling Conc Pavt								
0010 8	110045	70	Ft	\$11.00	\$770.00	\$12.00	\$840.00		\$0.00
Pavt Mrl	kg, Ovly Cold Plastic, 24 inch, Sto	op Bar							
0011 8	110063	2	Ea	\$300.00	\$600.00	\$190.00	\$380.00		\$0.00
Pavt Mrl	kg, Ovly Cold Plastic, Lt Turn Arro	w Sym							
0012 8	110071	4	Ea	\$120.00	\$480.00	\$190.00	\$760.00		\$0.00
Pavt Mrl	kg, Ovly Cold Plastic, Rt Turn Arro	ow Sym							
0013 8	110233	4,153	Ft	\$0.12	\$498.36	\$0.21	\$872.13		\$0.00
Pavt Mrl	kg, Waterborne, 6 inch, White								
0014 8	110234	1,105	Ft	\$0.12	\$132.60	\$0.21	\$232.05		\$0.00
Pavt Mrl	kg, Waterborne, 6 inch, Yellow								
0015 8	110237	457	Ft	\$0.20	\$91.40	\$0.40	\$182.80		\$0.00
Pavt Mrl	kg, Waterborne, 12 inch, White								
0016 8	110253	4,153	Ft	\$0.09	\$373.77	\$0.12	\$498.36		\$0.00
Pavt Mrl	kg, Waterborne, 2nd Application,	6 inch, \	White						
0017 8	110254	1,105	Ft	\$0.09	\$99.45	\$0.12	\$132.60		\$0.00
Pavt Mrl	kg, Waterborne, 2nd Application,	6 inch, \	/ ellow						
0018 8	110257	457	Ft	\$0.18	\$82.26	\$0.30	\$137.10		\$0.00
Pavt Mrl	kg, Waterborne, 2nd Application,	12 inch,	White						
0019 8	110351	1,250	Dlr	\$1.00	\$1,250.00	\$1.00	\$1,250.00		\$0.00
Witness	, Log, \$1,250.00								
0020 8	110451	248	Sft	\$3.00	\$744.00	\$2.50	\$620.00		\$0.00
Recessi	ng Pavt Mrkg, Transv								
0021 8	120012	8	Ea	\$340.00	\$2,720.00	\$60.00	\$480.00		\$0.00
Barricad	le, Type III, High Intensity, Double	Sided,	Lighted,		·				

Contract # SB US23/Owen (SB US-23/Owen Ramps City of Fenton) MERL: 2022.11.0

Line Pay Ite	n Code	Quantity	Units	(0) ENGINEER'S ES	STIMATE	(1) Cadillac Asphalt	LLC		
Description				Bid Price	Total	Bid Price	Total	Bid Price	Tota
0022 812001	3	8	Ea	\$100.00	\$800.00	\$1.00	\$8.00		\$0.00
	e III, High Intensity, Dou	uble Sided,	Lighted,						
Oper 0023 812014)	1	Ea	\$100.00	\$100.00	\$300.00	\$300.00		\$0.00
Lighted Arrow,	Гуре С, Furn								
0024 812014		1	Ea	\$100.00	\$100.00	\$50.00	\$50.00		\$0.00
Lighted Arrow,	Гуре C, Oper								
0025 812016)	1	LSUM	\$3,000.00	\$3,000.00	\$10,000.00	\$10,000.00		\$0.00
Ltg for Night W	ork								
0026 812017)	1	LSUM	\$8,000.00	\$8,000.00	\$62,210.13	\$62,210.13		\$0.00
Minor Traf Dev	ces								
0027 812025		65	Ea	\$19.00	\$1,235.00	\$14.00	\$910.00		\$0.00
Plastic Drum, F	luorescent, Furn								
0028 812025		65	Ea	\$1.50	\$97.50	\$1.00	\$65.00		\$0.00
Plastic Drum, F	luorescent, Oper								
0029 812031)	1	Ea	\$100.00	\$100.00	\$30.00	\$30.00		\$0.00
Sign Cover									
0030 812033		4	Ea	\$2,100.00	\$8,400.00	\$1,350.00	\$5,400.00		\$0.00
Sign, Portable, Furn	Changeable Message,	, NTCIP-Co	mpliant,						
0031 812033;	3	4	Ea	\$300.00	\$1,200.00	\$200.00	\$800.00		\$0.00
Sign, Portable,	Changeable Message,	, NTCIP-Co	mpliant,	•	. ,	·	·		
Oper				Φ0.50		Φ0.00			
0032 812035		378	Sft	\$3.50	\$1,323.00	\$3.00	\$1,134.00		\$0.00
	emp, Prismatic, Furn			фо 7 5	4000 50	Φ0.50			
0033 812035	emp, Prismatic, Oper	378	Sft	\$0.75	\$283.50	\$0.50	\$189.00		\$0.00
Sigii, Type B, I	еттр, ктізттано, Орег								
Bid Totals:					\$204,685.84		\$480,776.73		